1.

O 2ol a7t 22 29719 |2 A7

EAv Y mf\ FAVL

~I5-7 90 8 ~N0- o ~12-

bh'e8

vae 0600 0660 @Dee 6606

~&B

@5:3

©4:5

©3:2

®2:3
@3:45=30:45=6:9=2:3
metA GH7F 22 A2 @, @l




2. oZ I9lA BC Y dole?

@ 7.5cm @ 10.5cm @ 12.5cm

@ 15cm ®)}18cm

~&B

AABC 2} AAED ©f| A
AB:AE=12:4=3:1
AC:AD=15:5=3:1

(A EFTF

- AABC O AAED (SAS &2)
BC:ED=3:1°22 BC:6=3:
- BC = 18(cm)




a3
gol o

oy L

J}L mlo

SR KEERL A

= al A
g AL

® aABD @ aACE  (B)aCBE

@ AFBE ® AFCD

vs)

Q

~&B

i) AABD ¢} AACE A /A &= &5, /ADB = /AEC =90°
. AABD & AACE (AA i 1::)

11) AFBE ¢} AFCD ©J|4] /EBF = /DCF , (FEB = /FDC =
90°

.. AFBE o AFCD (AA %)
iii) AFBE 2} AABD °[|A] /FBE += 5§, /BEF = /BDA = 90°
.. AFBE @ AABD (AA &)

wekA] AABD ¢ AACE ¢OAFBE ¢ AFCD ©|t},




oh& 19 ol B2 ABC o B3
AZFRIBC $19] M E o 225 ¥t
BD = 8cm , BE = 5¢cm , EC = 10cm ¥
o, AF ] Zo]& FstH?

35
@ 8cm @ Zcm ® Tcm
25
@ S om ® 6cm

5cm P~ ~10cm -~

Q

B

(A = /B = /C = (DEF = 60°

(BDE = /CEF

ABDE & ACEF(AAS-S)

BD:CE =8: 10 =d g
ol

rek
rE
1o
i)
£




5.

& J#oA ,ABC = /FDC = 90° ¢ of, o}& & &
ofd 729

A

D
E
/—I
F B C

O AABC @ AFDC ® AADE
@ AFBE (@)AEBC

B

12 w&0l

AABC €} AFDC A
(ABC = /FDC = 90°, .C = &%
.. AABC 0 aAFDC (AA H+&
AABC 9} AADE ©f| A
/ABC = /ADE = 90°, /A = 35
. AMABC AADE (AA &2
AABC ¢} AFBE 9|4

(ABC = /FBE = 90°

(A =90° - £C = (F

. AABCCOAFBE (AA | 1::)




